—mv._‘hm.w:,m:w S1°08€016'2$ $1°08€°0L5°2$ 5t 4e 6.8 v ve6zLY! 0}SeQ [|9p [ejJoL

15'e45'622'62$ 02'€95'9/6'v$ 02'665'9/6'v$ «N.\.mv,mow.vmw S.'¥€1'680'L$ 9v'ze6'oll’ elialosa|
Jeizol'668's$ - - £1'201'668'G$ 00°000'00S'€-$ €1°201'66€'6$ BAlJUBABI [BIDIUNIN BID]|Od
G9'09V'vee'co$ Sb'928'ces e Sb'9z8'ees'zcs 0}'/82'898'¥9$ S'29z's9e's1$ 99'¥20'c0S'6v$

82°120'L8L'L1$

82'120'.8L'11$ - 8Z'120'LEL' LIS

sesjqnd seiqQ ap uoid2lIg
|e1908 ojjosesaq

99'088'v9./$ - - 99'988'v9.$ - 99'088'v9/$ 02juIou023] oj|oliesag
09°969'6€5°L$ - - 09'959'6e5'l$ - 09'959'6€5'1$ [edidluny ejousplsald
00°929°159% - - 00'929159% - 00'9/9'159% oudju| [os3uo) ap ouebig
v0'9v2'90¥'2$ - - y0°'9¥Z'90¥'2$ - v0'9vZ'90v'cs ojusjuiejunAy 9p elIe}aIseg
06°0¥2'620'2$ - - 05°0¥2'620'C$ - 05'0¥2'620'2$ eunpibay
00'718'689°1$ - - 09'C18'689'L$ - 09°Z18'689'1$ einjedIpulg
81'562'5£8$ - - 8¥'662'Ge8$ - 8¥'56¢'5E8% lediojuny ejouapisaig
_ (-s)=9 g p Z+h=t z b
sau0(0oNpay
opidiafagng opebied opebuassg OpEIUINON | sauopelduny opeqoidy o)dasuos .
i%llllllllllllllllll — =

£207 9p 0l9i(a) Ip 87 |e 0Jaud 8p | |9p

BARRIS|UIWPY UGIoEOYISEID

5050163 ap ojsandnsaid [ap o_unze_m,_o_u odfijeuy opejsa

ope[qoQ ap peps|og




